MEMORANDUM

TO: NWABSD Board of Education DATE: August 26, 2025

Members

NUMBER: 26-011

FR: Office of the Superintendent **SUBJECT**: Approval of MOA Alaska

Humanities Forum FY26

ABSTRACT:

Board approval is required for contracts that exceed \$50,000.

ISSUE:

At issue is the Board's approval of the 2025-2026 Memorandum of Agreement (MOA) with the Alaska Humanities Forum for a cost not to exceed \$\$612,562.06

BACKGROUND AND/OR PERTINENT INFORMATION:

Alaska Humanities Forum (AKHF) will facilitate and oversee major components of the New Alaska Native Education Ilisautri Project, including managing the cultural Immersion (Culture Camp/Orientation) for new teachers, 2 gatherings in Kotzebue for C3 educators each year of the grant, and Partnership Meetings. This includes arranging and paying for travel costs associated with these activities. The total cost of these services, including partial salary/benefits for the AKHF C3 Program Director, Manager, and Coordinator, is \$612,562.06 for the 2025-2026 grant year (08/01/2025 to 07/31/2025)

Detailed Budget Included

Fully funded by Alaska Native Education C3 Ilisautri Grant Project

ALTERNATIVES:

- 1. Approve the MOA Alaska Humanities Forum FY26 for the amount not to exceed \$612,562.06 as presented;
- 2. Disapprove the MOA Alaska Humanities Forum FY26 for the amount not to exceed \$612,562.06 as presented;
- 3. Take no final action.

ADMINISTRATION'S RECOMMENDATION:

The administration recommends the board approve the MOA Alaska Humanities Forum FY26 for the amount not to exceed \$612,562.06 as presented.

Northwest Arctic Borough School District

P. O. Box 51 Kotzebue, AK 99752

MEMORANDUM OF AGREEMENT (MOA)

MOA's for more than \$50,000 must be approved by the School Board prior to start of Contract
In a fiscal year MOA's to the same Contractor totaling more than \$50,000 must be approved by the School Board prior to start of Contract
Remember to follow federal procurement regulations when using federal funds to support the MOA

TAB BETWEEN FIELDS

Contractor:	ALASKA HUMANITIES FORUM			MOA Control #:	
	Name of Company				Contact Brad Eisel for #
	21 WEST 1ST AVENU	E SUITE 200	ANCHORAGE	AK	99501
Str	eet or POB		City	State	Zip + four
(907) 770-84	20	Kari Lovett <	klovett@akhf.org>		
Area Code Pho	one # Fax #	E-mail Address			
Federal ID #	#: Enter without Dashes	Or Soc. Sec. #:	Enter without Dashes	Alaska Business Li	cense #: <u>974062</u>
08/01/2025 Start Date (mmdo	07/30/2026 dyy) End Date (mmddyy	_	W-9 Attached	W-9 Submitted Verify with Brad Brade Verify with Brade New York Walls and Brade	
Contractor Ag	consult wit during the provide a li non-consu	h Superintendent T project period to ca st of any qualified a mable supplies will	orandum of Understa ferri Walker regarding arry out grant activitie applicants for conside revert to the school d, indicate here	g staffing should any s. If needed the cor eration for any open district at the end of	/ changes occur stractor will also positions. Any
	<u>ii dadition</u>	ui opaoc io necac	a, maioate nore		
District Cont	act Person: Joy Cogl	ourn-Smith	Phone	#: 907-442-1814	Ext
Ema	ail Address: jcogburn	@nwarctic.org	Fax #:	(907)	<u></u>
District Agrees	for all billed se	rvices in a timely m			district will pay
	<u>lf additional s</u>	<u>pace is needed, i</u>	<u>ndicate here</u> 🔲 See	attachment	
Payment Tern	for the amount of	of work, supplies or	and expenses invoice travel that has take	n place within the sp	
	<u>ir additional spa</u>	ace is needed, ind	<u>licate nere</u> 🔝 See a	ttachment	
En	iter Account Code as:	XXX.XXX.XXX.X	XXX.410 <u>Amo</u>	<u>unt</u>	
	Account #:	364.099.350.000.		2,562.06	
			Total: \$612	2,562.06	
MOA Not to E	xceed: \$612,56	2.06 Budget	Authority Approval:		

Memorandum of Understanding (MOU)

Between

The Northwest Arctic Borough School District (NWABSD)

and the Alaska Humanities Forum (AKHF)

This Memorandum of Understanding (MOU) is made and entered into by and between The Northwest Arctic Borough School District (NWABSD), herein referred to as "Lead Fiscal Entity," and the Alaska Humanities Forum (AKHF), herein referred to as "Partner Organization."

Article 1: Purpose

The purpose of this MOU is to establish a formal partnership between NWABSD and AKHF for the implementation of the Ilisautri Project (IL), aimed at increasing Alaska Native student achievement and engagement in Northwest Arctic (NWA) by decreasing educator turnover, improving school cultural responsiveness, and building strong school-community relationships through three core programs.

Article 2: Background

Ilisautri, meaning "teacher" or "to teach" in Iñupiaq, represents a collaboration that leverages the strengths of both organizations to benefit the students and educators of NWA. The project will implement the following core programs:

Creating Cultural Competence (C3) Model: Implemented by AKHF, this program aims to increase the cultural competence of educators in their first through fifth years with NWABSD. Activities include direct mentorship, coursework, and participation in a local culture camp.

EdRising Program: NWABSD facilitates this program for high school students. Through intra-curricular activities and expanded program offerings, it aims to cultivate a cohort of future educators from the local community.

Education Program at the Alaska Technical Center: Developed by NWABSD, this program targets adults, especially paraprofessionals, supporting their pursuit of teacher certification through a cohort model involving virtual coursework, mentorship, and inperson gatherings.

Article 3: Roles and Responsibilities

3.1 NWABSD (Lead Fiscal Entity) Responsibilities:

Serve as the primary financial overseer for the Ilisautri Project.
Implement the EdRising and Education Program at the Alaska Technical Center.
Provide necessary support and resources to facilitate the programs under this MOU.
Coordinate with AKHF to ensure program objectives are met.

3.2 AKHF Responsibilities:

Implement the C3 model to enhance cultural competence among NWABSD educators. Collaborate with NWABSD in planning, execution, and evaluation of the C3 model. Provide expertise and resources for the successful execution of cultural competence training.

Article 4: Financial Arrangements

The NWABSD, acting as the Lead Fiscal Entity, will manage all financial transactions and disbursements related to the Ilisautri Project. Both parties agree to comply with all financial reporting requirements and ensure transparency and accountability in the use of funds.

Article 5: Term and Termination

This MOU shall be effective, beginning with the date of the last signature hereon, and if the grant is received, ending upon the expiration of the grant project period, or upon mutual agreement of the parties, whichever occurs first.

Article 6: Amendments

This MOU may be amended or modified only by a written agreement signed by both parties.

Article 7: Signatures

This MOU is executed as of the latest date of signature below and indicates the agreement of both NWABSD and AKHF to the terms outlined herein.

For the Northwest Arctic Borough School District

Name: Mrs. Terri Walker

Title: Superintendent of Schools

-DocuSianed by:

Date: 2/8/2024

Signature:

For the Alaska Humanities Forum

Name: Kameron Perez-Verdia

Title: President & CEO

Date: 2/8/2024

Signature:

-6475279B301342F

AKHF Budget Narrative

TOTAL

	Year 1	Year 2	Year 3
Personnel	\$180,600.00	\$186,018.00	\$191,598.54
Fringe	\$71,337.00	\$73,477.11	\$75,681.42
Travel	\$66,893.50	\$139,875.55	\$150,492.93
Supplies	\$16,800.00	\$8,740.00	\$8,740.00
Contractual	\$89,725.00	\$91,725.00	\$91,725.00
Other	\$34,880.00	\$35,926.40	\$37,004.19
Total Direct Costs	\$456,235.50	\$531,762.06	\$544,820.97
Operational support fee (\$6,400 per month)	\$76,800.00	\$76,800.00	\$76,800.00
TOTAL:	\$537,035.50	\$612,562.06	\$632,042.09

Overall Total: \$1,781,639.64

1. PERSONNEL

Personnel Total:

	Year 1	Year 2	Year 3
President & CEO	\$20,600.00	\$21,218.00	\$21,854.54
C3 Program Director	\$40,000.00	\$41,200.00	\$42,436.00
C3 Program Manager	\$65,000.00	\$66,950.00	\$68,958.50
C3 Program Coordinator	\$55,000.00	\$56,650.00	\$58,349.50
TOTAL	\$180,600.00	\$186,018.00	\$191,598.54

Personnel Detail:

President & CEO: (Y1-Y3: .1 FTE)

The President & CEO, Kameron Perez-Verdia, will provide project oversight and leadership for AKHF's components of the project and ensure fidelity of implementation to the organization and to the project partnership. His salary is calculated with a 3% increase each year.

C3 Program Director: (Y1-Y3: .5 FTE)

The C3 Program Director, Julie Rowland, will supervise the C3 Program Manager, oversee partner relationship management, assist in planning and facilitating the Orientation, Debrief and Midyear gatherings, and attend partner meetings. Her salary is calculated with a 3% increase each year.

C3 Program Manager: (Y1-Y3: 1 FTE)

The C3 Program Manager (to be hired) will supervise the C3 Program Coordinator, be responsible for recruiting and onboarding of C3 participants, co-hosting monthly Ilisautri Project partner meetings, planning and facilitating Orientation, Debrief, and Midyear gatherings with input from partners, providing management of the Seminar course, drafting progress reports, and working directly with evaluators. Their salary is calculated with a 3% increase each year.

C3 Program Coordinator: (Y1-Y3: 1 FTE)

The C3 Program Coordinator (to be hired) will be responsible for recruiting and onboarding of C3 participants, handling logistics for teacher travel and gatherings, and supporting Orientation, Debrief, and Midyear gatherings, and the Seminar course. Their salary is calculated with a 3% increase each year.

2. FRINGE Fringe Total:

	Year 1	Year 2	Year 3	
President & CEO	\$8,137.00	\$8,381.11	\$8,632.54	
C3 Program Director	\$15,800.00	\$16,274.00	\$16,762.22	
C3 Program Manager	\$25,675.00	\$26,445.25	\$27,238.61	
C3 Program Coordinator	\$21,725.00	\$22,376.75	\$23,048.05	
TOTAL	\$71,337.00	\$73,477.11	\$75,681.42	

Fringe Personnel costs include health and dental insurance, disability insurance, payroll taxes, unemployment insurance, and employer contributions to retirement plans. Like salaries, fringe is calculated at a 3% increase each year.

3. TRAVEL

Travel Total:

	Year 1	Year 2	Year 3
Cultural Immersion (Orientation, Camp, & Debrief) (Staff)	\$10,714	\$11,035	\$11,366
Cultural Immersion (Orientation, Camp, & Debrief) (Participants)	\$43,373	\$44,674	\$46,014
Cultural Immersion (Orientation, Camp, & Debrief) (Near Peer)	\$4,276	\$4,404	\$4,536
Mid-Year Gatherings (Staff)	\$0	\$8,352	\$8,603
Mid-Year Gatherings (Participants)	\$0	\$67,328	\$75,769
Ilisautri Project Team Meetings	\$3,963	\$4,082	\$4,204
Culture Camp Planning Meetings	\$4,568	\$0	\$0
TOTAL	\$66,894	\$139,876	\$150,493

Travel Detail:

Y1: Cultural Immersion (Orientation, Camp, and Debrief) travel for 15 educators, 2 AKHF staff, and 2 Near Peers. No Midyear Gatherings. Ilisautri Project Team meeting travel for 3 AKHF staff. Culture Camp planning meeting for 2 AKHF staff.

	Unit Cost	Number of Units	Total
Cultural Immersion (Orientation/Culture Camp/Debrief) in Northwest Arctic (twice/year):			
Educator airfare home to Kotzebue (RT)		15	\$21,000

Educator lodging + per diem in Kotzebue (Orientation, 2 nights/3 days)	\$553	15	\$8,295
Educator airfare Kotzebue to camp (RT)	\$481.50	15	\$7,223
Educator lodging + per diem in Kotzebue (Debrief, 1 night/2 days)	\$337	15	\$5,055
AKHF staff airfare ANC to Kotzebue (RT)	\$400	4	\$1,600
AKHF staff airfare Kotzebue to camp (RT)	\$481.50	4	\$1,926
AKHF staff lodging + per diem in Kotzebue (Orientation, 3 nights/4 days)	\$1,054	4	\$4,216
AKHF staff lodging + per diem in Kotzebue (Debrief, 2 nights/3 days)	\$743	4	\$2,972
Near peer travel from home community to Kotzebue (RT)	\$481.50	2	\$963
Near peer travel from Kotzebue to camp (RT)	\$481.50	2	\$963
Near peer lodging in Kotzebue (Orientation, 2 nights/3 days)	\$743	2	\$1,486

Near peer lodging in Kotzebue (Debrief, 1 night/2 days)	\$432	2	\$864
Lodging buffer in case of accommodations needs	\$300	6	\$1,800
Partner meeting in Kotzebue (once/year)			
AKHF staff airfare ANC to Kotzebue (RT)	\$400	3	\$1,200
AKHF staff lodging + per diem in Kotzebue (3 days/2 nights)	\$921	3	\$2,763
Camp planning meetings in Kiana and Selawik (once/year)			
AKHF staff airfare ANC to Kotzebue (RT)	\$400	2	\$800
AKHF staff airfare Kotzebue to Selawik (RT)	\$481.50	2	\$963
AKHF staff airfare Kotzebue to Kiana (RT)	\$481.50	2	\$963
AKHF staff lodging + per diem in Kotzebue (2 nights/3 days)	\$921	2	\$1,842
TOTAL			\$66,893.50

Cultural Immersion (Orientation/Culture Camp/Debrief) in Northwest Arctic (twice/year): In Y1 (summer 2025), 15 educators (Cohort 1) will fly from their homes in the Continental USA to Kotzebue, Alaska, where they will stay for two nights/three days (budgeted at \$1400 per RT

ticket from Continental USA to Anchorage, and \$400 per RT ticket from Anchorage to Kotzebue; and \$95 per night for a shared room at the Alaska Technical Center housing and \$121 per day for per diem and food). The educators will then fly to culture camp in the Northwest Arctic Region, budgeted at \$481.50 per RT ticket from Kotzebue to camp. Educators will travel to one of two culture camps (Kiana/Selawik), depending on the "micro-region" where they will be teaching. After camp, educators will return to Kotzebue for one night/two days for Debrief (budgeted at \$95 per night for a shared room at the Alaska Technical Center housing and \$121 per day for per diem and food) before returning to their original points of departure. We include a \$1800 lodging buffer in case educators are not able to share rooms due to accessibility reasons. There will be two cycles of Orientation and Debrief, corresponding to the two camps, which will occur at different times during Summer 2025. Two AKHF staff will attend each Orientation and Debrief, as well as each culture camp to help ensure that the subsequent C3 programming connects to the educators' camp experiences. AKHF staff will fly from Anchorage to Kotzebue (budgeted at \$400 per RT ticket), and stay in Kotzebue alongside program participants (budgeted at \$190 per night for a single room at the Alaska Technical Center and \$121 per day for per diem and food). AKHF staff will arrive in Kotzebue one day before educators arrive to allow for set up, and will stay one day after educators leave to allow for supplies break down. One Near Peer will also attend each Orientation, Camp, and Debrief alongside C3 participants. Near Peers are expected to travel to Kotzebue from within the region to participate in programming (budgeted at \$481.50 per RT ticket between their home community and Kotzebue). Near peers will also stay in Kotzebue alongside program participants (budgeted at \$120 per night for a single room at the Alaska Technical Center and \$121 per day for per diem and food).

Midyear Gatherings: There are no Midyear Gatherings planned during Y1.

Partner meeting in Kotzebue (once/year) In Y1, 3 AKHF staff working on the Ilisautri Project will fly from Anchorage to Kotzebue for 3 days of partner meetings (budgeted at \$400 per RT ticket, in addition to \$279 per night at the Nullagvik Hotel and \$121 per day for per diem). The Nullagvik Hotel is the only hotel in Kotzebue. These meetings will help build in-person connections between AKHF and NWABSD staff, and provide time to engage in more in-depth planning and conversations.

Camp planning meetings in Kiana and Selawik (once/year): In Y1, 2 AKHF staff working on the Ilisautri Project will fly to the Northwest Arctic for 5 days of culture camp planning meetings with each camp. Staff will fly from Anchorage to Kotzebue (\$400 per RT ticket), and travel from Kotzebue to Kiana for one day of meetings and Kotzebue to Selawik for one day of meetings (each RT flight budgeted at \$481.50). There are no direct flights between Kiana and Selawik, necessitating a return to Kotzebue. Staff will spend 2 nights and 3 days in Kotzebue in between travel (budgeted at \$279 per night at the Nullagvik Hotel and \$121 per day for per diem). These

meetings will allow staff to familiarize with camp staff and resources prior to arriving with C3 participants.

Y2: Cultural Immersion Camp travel for 15 educators, 2 AKHF staff, and 2 Near Peers. Two Midyear Gatherings (includes Cohorts 1 and 2). Ilisautri Project Team meeting travel for 3 AKHF staff.

*Note that all travel costs in Y2 are budgeted with 3% inflation over Y1 assumed.

	Unit Cost	Number of Units	Total
Cultural Immersion (Orientation/Culture Camp/Debrief) in Northwest Arctic (twice/year)			
Educator airfare home to Kotzebue (RT)	\$1,442	15	\$21,630
Educator lodging + per diem in Kotzebue (Orientation, 2 nights/3 days)	\$570	15	\$8,544
Educator airfare Kotzebue to camp (RT)	\$496	15	\$7,439
Educator lodging + per diem in Kotzebue (Debrief, 1 night/2 days)	\$347	15	\$5,207
AKHF staff airfare ANC to Kotzebue (RT)	\$412	4	\$1,648
AKHF staff airfare Kotzebue to camp (RT)	\$496	4	\$1,984

			ī
AKHF staff lodging + per diem in Kotzebue (Orientation, 3 nights/4 days)	\$1,086	4	\$4,342
AKHF staff lodging + per diem in Kotzebue (Debrief, 2 nights/3 days)	\$765	4	\$3,061
Near peer travel from home community to Kotzebue (RT)	\$496	2	\$992
Near peer travel from Kotzebue to camp (RT)	\$496	2	\$992
Near peer lodging in Kotzebue (Orientation, 2 nights/3 days)	\$765	2	\$1,531
Near peer lodging in Kotzebue (Debrief, 1 night/2 days)	\$445	2	\$890
Lodging buffer in case of accommodations needs Midyear Gatherings	\$309	6	\$1,854
in Kotzebue (twice/year).			
Educator airfare community to Kotzebue (RT)	\$455	54	\$24,557

Educator lodging + per diem in Kotzebue (3 nights/4 days)	\$792	54	\$42,772
AKHF staff airfare ANC to Kotzebue (RT)	\$412	4	\$1,648
AKHF staff lodging + per diem in Kotzebue (5 nights/6 days)	\$1,676	4	\$6,704
Partner meeting in Kotzebue (once/year)			
AKHF staff airfare ANC to Kotzebue (RT)	\$412	3	\$1,236
AKHF staff lodging + per diem in Kotzebue (2 nights/ 3 days)	\$949	3	\$2,846
TOTAL			\$139,875.55

Cultural Immersion (Orientation/Culture Camp/Debrief) in Northwest Arctic (twice/year):

In Y2 (summer 2026), 15 educators (Cohort 2) will fly from their homes in the Continental USA to Kotzebue, Alaska, where they will stay for two nights/three days (\$1400 per RT ticket from Continental USA to Anchorage, and \$400 per RT ticket from Anchorage to Kotzebue; and \$95 per night for a shared room at the Alaska Technical Center housing and \$121 per day for per diem and food). The educators will then fly to culture camp in the Northwest Arctic Region, budgeted at \$481.50 per RT ticket from Kotzebue to camp. Educators will travel to one of two culture camps (Kiana/Selawik), depending on the "micro-region" where they will be teaching. After camp, educators will return to Kotzebue for one night/two days for Debrief (budgeted at \$95 per night for a shared room at the Alaska Technical Center housing and \$121 per day for per diem and food) before returning to their original points of departure. We include a \$1800 lodging buffer in case educators are not able to share rooms due to accessibility reasons. There will be two cycles of Orientation and Debrief, corresponding to the two camps, which will occur at different times during Summer 2026. Two AKHF staff will attend each Orientation and Debrief,

as well as each culture camp to help ensure that the subsequent C3 programming connects to the educators' camp experiences. AKHF staff will fly from Anchorage to Kotzebue (\$400 per RT ticket), and stay in Kotzebue alongside program participants (\$190 per night for a single room at the Alaska Technical Center and \$121 per day for per diem and food). AKHF staff will arrive in Kotzebue one day before educators arrive to allow for set up, and will stay one day after educators leave to allow for supplies break down. One Near Peer will also attend each Orientation, Camp, and Debrief alongside C3 participants. Near Peers are expected to travel to Kotzebue from within the region to participate in programming (budgeted at \$481.50 per RT ticket between their home community and Kotzebue). Near peers will also stay in Kotzebue alongside program participants (budgeted at \$120 per night for a single room at the Alaska Technical Center and \$121 per day for per diem and food). Note that all travel costs reflected in table above are budgeted with 3% inflation over Y1 assumed.

Midyear Gatherings (twice/year): During Y2, there will be two 3 night/4 day Midyear Gatherings for C3 educators: one in Kotzebue in October, and one in Kotzebue in March. Because Midyear Gatherings include all C3 cohorts, we assume 27 educators will attend in October and 27 educators will attend in February. Educator round-trip airfare to both communities is budgeted at \$481.50 per person. Lodging is budgeted at \$190 per night and per diem per educator is budgeted at \$121 per night. Two AKHF staff will attend each Midyear Gathering. Staff will fly from Anchorage to Kotzebue (budgeted at \$400 RT) and stay alongside participants (budgeted at \$190 per night for lodging and \$121 per day for per diem). AKHF staff will arrive in Kotzebue one day before educators arrive to allow for set up, and will stay one day after educators leave to allow for supplies break down. *Note that all travel costs reflected in table above are budgeted with 3% inflation over Y1 assumed*.

Partner meetings in Kotzebue (once/year): In Y2, 3 AKHF staff working on the Ilisautri Project will fly from Anchorage to Kotzebue for 3 days of partner meetings (budgeted at \$400 per RT ticket, in addition to \$279 per night at the Nullagvik Hotel and \$121 per day for per diem). The Nullagvik Hotel is the only hotel in Kotzebue. These meetings will help build in-person connections between AKHF and NWABSD staff, and provide time to engage in more in-depth planning and conversations. *Note that all travel costs reflected in table above are budgeted with 3% inflation over Y1 assumed.*

Y3: Cultural Immersion Camp travel for 15 educators, 2 AKHF staff, and 2 Near Peers. Two Midyear Gatherings (includes Cohorts 1, 2 and 3). Ilisautri Project Team meeting travel for 3 AKHF staff.

^{*}Note that all travel costs in Y3 are budgeted with 3% inflation over Y2 assumed.

	Unit Cost	Number of Units	Total
Cultural Immersion (Orientation/Culture Camp/Debrief) in Northwest Arctic (twice/year):			
Educator airfare home to Kotzebue (RT)	\$1,485	15	\$22,279
Educator lodging + per diem in Kotzebue (Orientation, 2 nights/3 days)	\$587	15	\$8,800
Educator airfare Kotzebue to camp (RT)	\$511	15	\$7,662
Educator lodging + per diem in Kotzebue (Debrief, 1 night/2 days)	\$358	15	\$5,363
AKHF staff airfare ANC to Kotzebue (RT)	\$424	4	\$1,697
AKHF staff airfare Kotzebue to camp (RT)	\$511	4	\$2,043
AKHF staff lodging + per diem in Kotzebue (Orientation, 3 nights/4 days)	\$1,118	4	\$4,473

AKHF staff lodging + per diem in Kotzebue (Debrief, 2 nights/3			
days)	\$788	4	\$3,153
Near peer travel from home community to	¢511	2	¢1 022
Kotzebue (RT)	\$511	2	\$1,022
Near peer travel from Kotzebue to camp (RT)	\$511	2	\$1,022
Near peer lodging in Kotzebue (Orientation, 2			
nights/3 days)	\$788	2	\$1,576
Near peer lodging in Kotzebue (Debrief, 1 night/2 days)	\$458	2	\$917
Lodging buffer in case of accommodations needs	\$318	6	\$1,910
Midyear Gatherings in Kotzebue (twice/year).			
Educator airfare community to			
Kotzebue (RT)	\$468	59	\$27,635
Educator lodging + per diem in Kotzebue	\$01 6	59	¢40 124
(3 nights/4 days)	\$816	39	\$48,134

(2 nights/ 3 days)	\$977	TOTAL	\$2,931 \$150,492.93
AKHF staff lodging + per diem in Kotzebue	0077		#2.021
AKHF staff airfare ANC to Kotzebue (RT)	\$424	3	\$1,273
Partner meeting in Kotzebue (once/year)			
AKHF staff lodging + per diem in Kotzebue (5 nights/6 days)	\$1,726	4	\$6,905
AKHF staff airfare ANC to Kotzebue (RT)	\$424	4	\$1,697

Cultural Immersion (Orientation/Culture Camp/Debrief) in Northwest Arctic (twice/year):

In Y3 (summer 2027), 15 educators (Cohort 3) will fly from their homes in the Continental USA to Kotzebue, Alaska, where they will stay for two nights/three days (budgeted at \$1400 per RT ticket from Continental USA to Anchorage, and \$400 per RT ticket from Anchorage to Kotzebue; and \$95 per night for a shared room at the Alaska Technical Center housing and \$121 per day for per diem and food). The educators will then fly to culture camp in the Northwest Arctic Region, budgeted at \$481.50 per RT ticket from Kotzebue to camp. Educators will travel to one of two culture camps (Kiana/Selawik), depending on the "micro-region" where they will be teaching. After camp, educators will return to Kotzebue for one night/two days for Debrief (budgeted at \$95 per night for a shared room at the Alaska Technical Center housing and \$121 per day for per diem and food) before returning to their original points of departure. We include a \$1800 lodging buffer in case educators are not able to share rooms due to accessibility reasons. There will be two cycles of Orientation and Debrief, corresponding to the two camps, which will occur at different times during Summer 2027. Two AKHF staff will attend each Orientation and Debrief, as well as each culture camp to help ensure that the subsequent C3 programming connects to the educators' camp experiences. AKHF staff will fly from Anchorage to Kotzebue (budgeted at \$400 per RT ticket), and stay in Kotzebue alongside program participants (budgeted at \$190 per night for a single room at the Alaska Technical Center and \$121 per day for per diem

and food). AKHF staff will arrive in Kotzebue one day before educators arrive to allow for set up, and will stay one day after educators leave to allow for supplies break down. One Near Peer will also attend each Orientation, Camp, and Debrief alongside C3 participants. Near Peers are expected to travel to Kotzebue from within the region to participate in programming (budgeted at \$481.50 per RT ticket between their home community and Kotzebue). Near peers will also stay in Kotzebue alongside program participants (budgeted at \$120 per night for a single room at the Alaska Technical Center and \$121 per day for per diem and food). *Note that all travel costs reflected in table above are budgeted with 3% inflation over Y2 assumed*.

Midyear Gatherings in Kotzebue (twice/year): During Y3, there will be two 3 night/4 day Midyear Gatherings for C3 educators: one in Kotzebue in October, and one in Kotzebue in March. Because Midyear Gatherings include all C3 cohorts, we assume 22 educators will attend in October and 37 educators will attend in February. Educator round-trip airfare to both communities is budgeted at \$481.50 per person. Lodging is budgeted at \$190 per night and per diem per educator is budgeted at \$121 per night. Two AKHF staff will attend each Midyear Gathering. Staff will fly from Anchorage to Kotzebue (budgeted at \$400 RT) and stay alongside participants (budgeted at \$190 per night for lodging and \$121 per day for per diem). AKHF staff will arrive in Kotzebue one day before educators arrive to allow for set up, and will stay one day after educators leave to allow for supplies break down. Note that all travel costs reflected in table above are budgeted with 3% inflation over Y2 assumed.

Partner meeting in Kotzebue (once/year): In Y3, 3 AKHF staff working on the Ilisautri Project will fly from Anchorage to Kotzebue for 3 days of partner meetings (budgeted at \$400 per RT ticket, in addition to \$279 per night at the Nullagvik Hotel and \$121 per day for per diem). The Nullagvik Hotel is the only hotel in Kotzebue. These meetings will help build in-person connections between AKHF and NWABSD staff, and provide time to engage in more in-depth planning and conversations. *Note that all travel costs reflected in table above are budgeted with 3% inflation over Y2 assumed.*

4. SUPPLIES Supplies Total:

	Year 1	Year 2	Year 3
Office supplies	\$800.00	\$800.00	\$800.00
Technology supplies	\$4,000.00	\$500.00	\$500.00
Midyear Gathering supplies	\$500.00	\$500.00	\$500.00

Workshop Supplies	\$2,000.00	\$2,000.00	\$2,000.00
C3 Seminar supplies	\$2,000.00	\$2,000.00	\$2,000.00
Camp supplies	\$7,500.00	\$2,940.00	\$2,940.00
TOTAL	\$16,800.00	\$8,740.00	\$8,740.00

Program Supplies Details:

Office supplies: General office supplies include pens, paper, markers, flip charts, and other consumables necessary for *Ilisautri* staff to complete the day-to-day duties of their jobs.

Technology supplies: Computer supplies include laptops and IT supplies such as software licenses, discs, and flash drives for two *Ilisautri* staff workstations (budgeted at \$2,000 per staff). These supplies are necessary for *Ilisautri* staff to complete the day-to-day duties of their jobs.

Midyear Gathering supplies: Midyear Gathering supplies include materials required for participation in activities and conversations, including books and craft supplies.

Workshop supplies: Workshop supplies include materials required for full-day workshops conducted during the Multicultural Studies Seminar. Workshops are intensives that support educators to consider their roles and responsibilities as new community members. Supplies will include materials required to participate in the experience, including workbooks.

C3 Seminar supplies: C3 Seminar supplies include materials required for participation in the Multicultural Studies Seminar offered by the University of Alaska Anchorage, including textbooks, books, and materials for activities and conversations such as projects with Elders.

Camp supplies: Camp supplies include materials participants will need to attend and participate in the culture camp experience. These include tents (8 x \$200) and air mattresses (16 x \$250). Participants will be given water bottles for camp (\$30 x 48) and the program will provide camp consumables including rope, tape, bug repellant, etc. (\$500 per year). Note: Camp supply amounts in Y2 and Y3 are smaller for tents and mattresses, intended only to replace broken or unusable gear purchased in Y1.

5. CONTRACTUAL

Contractual Total:

	Year 1	Year 2	Year 3
Community advisory			
group	\$4,000.00	\$4,000.00	\$4,000.00

Kotzebue coordinator	\$3,600.00	\$3,600.00	\$3,600.00
Culture Bearer			
honoraria	\$1,000.00	\$3,000.00	\$3,000.00
Camp contracts	\$60,000.00	\$60,000.00	\$60,000.00
C3 course fees	\$1,125.00	\$1,125.00	\$1,125.00
C3 course instructors	\$18,000.00	\$18,000.00	\$18,000.00
Near Peers	\$2,000.00	\$2,000.00	\$2,000.00
TOTAL	\$89,725.00	\$91,725.00	\$91,725.00

Contractual Details:

Community advisory group: NWABSD and AKHF will assemble an 8-member community advisory group to provide continued direction on the project, to include students, educators, Elders, and other community members with a connection to education. To allow participation from across the Northwest Arctic, the advisory group will convene virtually twice per year. Members will receive \$500 per year for their participation in support of the project.

Kotzebue coordinator: The Kotzebue coordinator will be a Contractor located in Kotzebue who will support on-the-ground logistics and planning for Orientation, Culture Camp, Debrief, and Midyear Gatherings. They are budgeted at a rate of \$40/hour. Annually, the Kotzebue coordinator will spend 50 hours coordinating orientation, culture camp, and debrief logistics, and 40 hours coordinating Midyear Gathering logistics. Through over a decade of experience with C3 programming, AKHF has found that an on-the-ground contractor is essential to properly coordinating logistics and building vendor relationships for programming that takes place in Kotzebue.

Culture Bearer honoraria: \$500 per honoraria per year is budgeted for Culture Bearers and guests who join the C3 pre-camp Orientation, post-camp Debrief, and Midyear Gatherings. In Y1, 2 Culture Bearers will participate in programming. In Y2 and Y3, 4 Culture Bearers will participate in programming. Culture Bearers provide vital perspective and information that enhances the C3 experience for participants.

Camp contracts: Culture camp is a core component of the C3 summer experience, offering educators the opportunity to experience traditional subsistence activities, and observe how Elders teach and students learn. \$60,000 will cover contracts with both the Kiana Elders Camp and the Selawik Science & Culture Camp to implement a culture camp annually that C3 participants can attend. Contracts include recruiting students to participate in camp.

C3 Course Fees and C3 Course Instructors: Each year, 15 C3 educators take the Multicultural Studies Seminar, offered by the University of Alaska Anchorage (UAA) School of Education. This course is a core component of the C3 experience, offering educators the opportunity to learn about the Northwest Arctic region, deepen their cultural competency, and build community connections. A \$75 per course per participant enrollment fee is budgeted for the Seminar. This is a special rate offered to AKHF by the University of Alaska Anchorage (UAA). Additionally, \$9,000 per instructor per year is budgeted for two co-instructors, who will be contracted to teach the Multicultural Studies Seminar through UAA.

Near Peers: Each year, two Near Peers will be offered a \$1000 stipend for their time supporting and mentoring C3 participants during Orientation, Camp, and Debrief. As alums of the program, Near Peers provide essential additional context and mentorship for participants.

<u>6. OTHER</u>

Other Total:

	Year 1	Year 2	Year 3
Printing	\$500.00	\$515.00	\$530.45
Postage and shipping	\$4,000.00	\$4,120.00	\$4,243.60
Insurance	\$5,000.00	\$5,150.00	\$5,304.50
Facilities	\$24,000.00	\$24,720.00	\$25,461.60
Subscriptions	\$1,380.00	\$1,421.40	\$1,464.04
TOTAL	\$34,880.00	\$35,926.40	\$37,004.19

Other Details:

Printing: \$500 is budgeted for printing of recruitment and promotional materials necessary to enroll participants in C3. Costs are budgeted with 3% inflation assumed each year.

Postage and Shipping: \$4,000 is budgeted for shipping of essential supplies to culture camps and Kotzebue (for Midyear Gatherings). Shipping to the Northwest Arctic in advance is typically cheaper than flying with materials. Costs are budgeted with 3% inflation assumed each year.

Insurance: \$5,000 per year is budgeted to provide insurance for C3 participants during culture camp programming and is expected to be provided through Great American Insurance. Costs are budgeted with 3% inflation assumed each year.

Facilities: \$24,000 is budgeted for office space for staff members to conduct the program activities and to provide adequate storage for program equipment and supplies. These costs are calculated at total square footage used for grant program work divided by the total FTEs to get a square footage. Costs are budgeted with 3% inflation assumed each year.

Subscriptions: \$1,300 per year is budgeted for the online booking appointment software for teacher participants and AKHF staff to conduct interviews prior to the program. Costs are budgeted with 3% inflation assumed each year.